

**A COMPANION OF DRAGOMIR'S GENERALIZATION OF
OSTROWSKI'S INEQUALITY AND APPLICATIONS IN
NUMERICAL INTEGRATION**

MOHAMMAD W. ALOMARI

ABSTRACT. Some companions of Dragomir's generalization of the Ostrowski's integral inequality (1.2) are established. Some sharp inequalities are proved. Application to a composite quadrature rule is provided.

1. INTRODUCTION

In 1938, Ostrowski established a very interesting inequality for differentiable mappings with bounded derivatives, as follows:

Theorem 1. *Let $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping on I° , the interior of the interval I , such that $f' \in L[a, b]$, where $a, b \in I$ with $a < b$. If $|f'(x)| \leq M$, then the following inequality,*

$$(1.1) \quad \left| f(x) - \frac{1}{b-a} \int_a^b f(u) du \right| \leq M(b-a) \left[\frac{1}{4} + \frac{\left(x - \frac{a+b}{2}\right)^2}{(b-a)^2} \right]$$

holds for all $x \in [a, b]$. The constant $\frac{1}{4}$ is the best possible in the sense that it cannot be replaced by a smaller constant.

In [16], Dragomir, Cerone and Roumeliotis proved the following generalization of Ostrowski's inequality.

Theorem 2. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a continuous on $[a, b]$, differentiable on (a, b) and whose derivative f' is bounded on (a, b) . Denote $\|f'\|_\infty := \sup_{t \in [a, b]} |f'(t)| < \infty$.*

Then,

$$(1.2) \quad \left| (b-a) \left[\lambda \frac{f(a) + f(b)}{2} + (1-\lambda) f(x) \right] - \int_a^b f(t) dt \right| \leq \left[\frac{(b-a)^2}{4} (\lambda^2 + (1-\lambda)^2) + \left(x - \frac{a+b}{2}\right)^2 \right] \|f'\|_\infty.$$

for all $\lambda \in [0, 1]$ and $a + \lambda \frac{b-a}{2} \leq x \leq b - \lambda \frac{b-a}{2}$.

Using (1.2), the authors obtained estimates for the remainder term of the mid-point, trapezoid, and Simpson formulae. They also gave applications of the mentioned results in numerical integration and for special means. For recent results,

Date: June 19, 2011.

2000 Mathematics Subject Classification. 26D10, 26A15, 26A16, 26A51.

Key words and phrases. Ostrowski's inequality, bounded variation, bounded function.

generalizations and new inequalities of Hermite–Hadamard, Ostrowski and Simpson’s type the reader may refer to [1]–[20] and the references therein.

Motivated by [12], Dragomir in [14] has proved the following companion of the Ostrowski inequality:

Theorem 3. *Let $f : [a, b] \rightarrow \mathbb{R}$ be an absolutely continuous function on $[a, b]$. Then we have the inequalities*

$$(1.3) \quad \left| \frac{f(x) + f(a+b-x)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \begin{cases} \left[\frac{1}{8} + 2 \left(\frac{x - \frac{3a+b}{4}}{b-a} \right)^2 \right] (b-a) \|f'\|_\infty, & f' \in L_\infty[a, b] \\ \frac{2^{1/q}}{(q+1)^{1/q}} \left[\left(\frac{x-a}{b-a} \right)^{q+1} + \left(\frac{\frac{a+b}{2} - x}{b-a} \right)^{q+1} \right]^{1/q} (b-a)^{1/q} \|f'\|_{[a,b],p}, & p > 1, \frac{1}{p} + \frac{1}{q} = 1, \text{ and } f' \in L_p[a, b] \\ \left[\frac{1}{4} + \left| \frac{x - \frac{3a+b}{4}}{b-a} \right| \right] \|f'\|_{[a,b],1} \end{cases}$$

for all $x \in [a, \frac{a+b}{2}]$.

In [15], Dragomir established some inequalities for this companion for mappings of bounded variation.

Theorem 4. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a mapping of bounded variation on $[a, b]$. Then we have the inequalities:*

$$(1.4) \quad \left| \frac{f(x) + f(a+b-x)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \left[\frac{1}{4} + \left| \frac{x - \frac{3a+b}{4}}{b-a} \right| \right] \cdot \bigvee_a^b(f),$$

for any $x \in [a, \frac{a+b}{2}]$, where $\bigvee_a^b(f)$ denotes the total variation of f on $[a, b]$. The constant $1/4$ is best possible.

In [19], Liu introduced some companions of an Ostrowski type inequality for functions whose first derivative are absolutely continuous. In [9], Barnett, Dragomir and Gomma have proved some companions for the Ostrowski inequality and the generalized trapezoid inequality. Recently, Alomari [2] proved a companion inequality for differentiable mappings whose first derivatives are bounded.

In this paper, we prove a companion of Dragomir’s generalization of Ostrowski’s inequality (1.2). Namely, inequalities for mappings of bounded variation and for absolutely continuous mappings whose first derivatives are belong to $L_\infty[a, b]$ and to $L_p[a, b]$ are established.

2. THE CASE WHEN f IS OF BOUNDED VARIATION

Theorem 5. *Let $f : [a, b] \rightarrow \mathbb{R}$ be a mapping of bounded variation on $[a, b]$. Then for all $\lambda \in [0, 1]$ and $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$, we have the inequality*

$$(2.1) \quad \left| (b-a) \left[\lambda \frac{f(a) + f(b)}{2} + (1-\lambda) \frac{f(x) + f(a+b-x)}{2} \right] - \int_a^b f(t) dt \right| \\ \leq \begin{cases} \max \left\{ \lambda \frac{b-a}{2}, \left(x - \frac{(2-\lambda)a + \lambda b}{2} \right), \left(\frac{a+b}{2} - x \right) \right\} \cdot V_a^b(f) \\ \frac{(b-a)}{2} \cdot \max \left\{ V_a^x(f), V_x^{a+b-x}(f), V_{a+b-x}^b(f) \right\} \end{cases}$$

where $V_a^b(f)$ denotes to the total variation of f over $[a, b]$. The constant $\frac{1}{2}$ in the second inequality is the best possible in the sense that it cannot be replaced by a smaller one.

Proof. Using the integration by parts formula for Riemann–Stieltjes integral, we have

$$\int_a^x \left(t - \left(a + \lambda \frac{b-a}{2} \right) \right) df(t) = \left(x - a - \lambda \frac{b-a}{2} \right) f(x) + \lambda \frac{b-a}{2} f(a) - \int_a^x f(t) dt,$$

$$\int_x^{a+b-x} \left(t - \frac{a+b}{2} \right) df(t) = \left(\frac{a+b}{2} - x \right) (f(x) + f(a+b-x)) - \int_x^{a+b-x} f(t) dt,$$

and

$$\int_{a+b-x}^b \left(t - \left(b - \lambda \frac{b-a}{2} \right) \right) df(t) \\ = \lambda \frac{b-a}{2} f(b) + \left(x - a - \lambda \frac{b-a}{2} \right) f(a+b-x) - \int_{a+b-x}^b f(t) dt.$$

Adding the above equalities, we get

$$\int_a^b K(x, t) f'(t) dt = (b-a) \left[\lambda \frac{f(a) + f(b)}{2} + (1-\lambda) \frac{f(x) + f(a+b-x)}{2} \right] - \int_a^b f(t) dt,$$

where,

$$K(x, t) = \begin{cases} t - \left(a + \lambda \frac{b-a}{2} \right), & t \in [a, x] \\ t - \frac{a+b}{2}, & t \in (x, a+b-x) \\ t - \left(b - \lambda \frac{b-a}{2} \right), & t \in (a+b-x, b] \end{cases}$$

for all $\lambda \in [0, 1]$ and $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$.

Now, We use the fact that for a continuous function $p : [c, d] \rightarrow \mathbb{R}$ and a function $\nu : [c, d] \rightarrow \mathbb{R}$ of bounded variation, one has the inequality

$$(2.2) \quad \left| \int_c^d p(t) d\nu(t) \right| \leq \sup_{t \in [c, d]} |p(t)| \bigvee_a^b(\nu).$$

Applying the inequality (2.2) for $p(t) = K(x, t)$, as above and $\nu(t) = f(t)$, $t \in [a, b]$, we get

$$\begin{aligned}
\left| \int_a^b K(x, t) df(t) \right| &\leq \left| \int_a^x K(x, t) df(t) \right| + \left| \int_x^{a+b-x} K(x, t) df(t) \right| + \left| \int_{a+b-x}^b K(x, t) df(t) \right| \\
&\leq \sup_{t \in [a, x]} |K(x, t)| \cdot \bigvee_a^x(f) + \sup_{t \in [x, a+b-x]} |K(x, t)| \cdot \bigvee_x^{a+b-x}(f) \\
&\quad + \sup_{t \in [a+b-x, b]} |K(x, t)| \cdot \bigvee_{a+b-x}^b(f) \\
&= \max \left\{ \lambda \frac{b-a}{2}, \left(x - \frac{(2-\lambda)a + \lambda b}{2} \right) \right\} \cdot \bigvee_a^x(f) + \left(\frac{a+b}{2} - x \right) \cdot \bigvee_x^{a+b-x}(f) \\
&\quad + \max \left\{ \lambda \frac{b-a}{2}, \left(x - \frac{(2-\lambda)a + \lambda b}{2} \right) \right\} \cdot \bigvee_{a+b-x}^b(f) \\
&:= M(x)
\end{aligned}$$

Now, observe that

$$\begin{aligned}
M(x) &\leq \max \left\{ \lambda \frac{b-a}{2}, \left(x - \frac{(2-\lambda)a + \lambda b}{2} \right), \left(\frac{a+b}{2} - x \right) \right\} \cdot \left[\bigvee_a^x(f) + \bigvee_x^{a+b-x}(f) + \bigvee_{a+b-x}^b(f) \right] \\
&= \max \left\{ \lambda \frac{b-a}{2}, \left(x - \frac{(2-\lambda)a + \lambda b}{2} \right), \left(\frac{a+b}{2} - x \right) \right\} \cdot \bigvee_a^b(f),
\end{aligned}$$

which proves the first inequality in (2.1). Also,

$$\begin{aligned}
M(x) &\leq \max \left\{ \bigvee_a^x(f), \bigvee_x^{a+b-x}(f), \bigvee_{a+b-x}^b(f) \right\} \cdot \left[\lambda \frac{b-a}{2} + \left(x - a - \lambda \frac{b-a}{2} \right) + \left(\frac{a+b}{2} - x \right) \right] \\
&= \frac{(b-a)}{2} \cdot \max \left\{ \bigvee_a^x(f), \bigvee_x^{a+b-x}(f), \bigvee_{a+b-x}^b(f) \right\},
\end{aligned}$$

for all $\lambda \in [0, 1]$ and $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$, thus the second inequality in (2.1) is proved. To prove that the constant $\frac{1}{2}$ in the second inequality is sharp, assume that the second inequality holds with constant $C > 0$, i.e.,

$$\begin{aligned}
(2.3) \quad &\left| (b-a) \left[\lambda \frac{f(a) + f(b)}{2} + (1-\lambda) \frac{f(x) + f(a+b-x)}{2} \right] - \int_a^b f(t) dt \right| \\
&\leq C(b-a) \cdot \max \left\{ \bigvee_a^x(f), \bigvee_x^{a+b-x}(f), \bigvee_{a+b-x}^b(f) \right\}
\end{aligned}$$

for all $\lambda \in [0, 1]$ and $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$. Consider the mapping

$$f(t) = \begin{cases} 0, & t \in (a, b) \\ 1, & t = a, b \end{cases}$$

then for $x = a$ and $\lambda = 0$, we have $\int_a^b f(t) dt = 0$, $\bigvee_a^b(f) = 2$, making of use (2.3), we get

$$(b - a) \leq 2C(b - a),$$

which gives $\frac{1}{2} \leq C$ and thus $\frac{1}{2}$ is the best possible, which completes the proof. \square

Remark 1. In Theorem 5, choose $\lambda = 0$, then we get

$$\begin{aligned} & \left| (b - a) \frac{f(x) + f(a + b - x)}{2} - \int_a^b f(t) dt \right| \\ & \leq (x - a) \cdot \bigvee_a^x(f) + \left(\frac{a + b}{2} - x \right) \cdot \bigvee_x^{a+b-x}(f) + (x - a) \cdot \bigvee_{a+b-x}^b(f) \\ & \leq \max \left\{ (x - a), \left(\frac{a + b}{2} - x \right) \right\} \cdot \bigvee_a^b(f) = \left[\frac{1}{4}(b - a) + \left| x - \frac{3a + b}{4} \right| \right] \cdot \bigvee_a^b(f), \end{aligned}$$

which gives (1.4).

Corollary 1. Let f as in Theorem 5, then we have

$$(2.4) \quad \left| (b - a) \left[\lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f\left(\frac{a + b}{2}\right) \right] - \int_a^b f(t) dt \right| \leq \frac{(b - a)}{2} \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] \cdot \bigvee_a^b(f),$$

for all $\lambda \in [0, 1]$. The 'first' constant $\frac{1}{2}$ is the best possible in the sense that it cannot be replaced by a smaller one.

Proof. In Theorem 5, choose $x = \frac{a+b}{2}$, we get

$$\begin{aligned} & \left| (b - a) \left[\lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f\left(\frac{a + b}{2}\right) \right] - \int_a^b f(t) dt \right| \\ & \leq \max \left\{ \lambda \frac{b - a}{2}, (1 - \lambda) \frac{b - a}{2} \right\} \cdot \bigvee_a^b(f) \\ & = \left[\frac{b - a}{2} \cdot \max \{ \lambda, (1 - \lambda) \} \right] \cdot \bigvee_a^b(f) = \frac{1}{2} \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] (b - a) \cdot \bigvee_a^b(f). \end{aligned}$$

which proves the inequality (2.4). To prove that the constant $\frac{1}{2}$ is sharp, assume that the inequality (2.4) holds with constant $C > 0$, i.e.,

$$(2.5) \quad \left| (b - a) \left[\lambda \frac{f(a) + f(b)}{2} + (1 - \lambda) f\left(\frac{a + b}{2}\right) \right] - \int_a^b f(t) dt \right| \leq C \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] (b - a) \cdot \bigvee_a^b(f).$$

for all $\lambda \in [0, 1]$. Consider the mapping

$$f(t) = \begin{cases} 0, & t \in [a, b] \setminus \left\{ \frac{a+b}{2} \right\} \\ 1, & t = \frac{a+b}{2} \end{cases}$$

then we have $\int_a^b f(t) dt = 0$, $\bigvee_a^b(f) = 2$, and choose $\lambda = 0$, making of use (2.5), we get

$$(b-a) \leq 2C(b-a),$$

which gives $\frac{1}{2} \leq C$ and thus $\frac{1}{2}$ is the best possible, which completes the proof. \square

Corollary 2. *In Corollary 1, if we choose*

(1) $\lambda = 0$, then we get

$$\left| (b-a) f\left(\frac{a+b}{2}\right) - \int_a^b f(t) dt \right| \leq \frac{1}{2} (b-a) \cdot \bigvee_a^b(f),$$

(2) $\lambda = \frac{1}{3}$, then we get

$$\left| \frac{(b-a)}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] - \int_a^b f(t) dt \right| \leq \frac{1}{3} (b-a) \cdot \bigvee_a^b(f),$$

(3) $\lambda = \frac{1}{2}$, then we get

$$\left| \frac{(b-a)}{2} \left[\frac{f(a) + f(b)}{2} + f\left(\frac{a+b}{2}\right) \right] - \int_a^b f(t) dt \right| \leq \frac{1}{4} (b-a) \cdot \bigvee_a^b(f),$$

(4) $\lambda = 1$, then we get

$$\left| (b-a) \frac{f(a) + f(b)}{2} - \int_a^b f(t) dt \right| \leq \frac{1}{2} (b-a) \cdot \bigvee_a^b(f),$$

The constants $\frac{1}{2}$, $\frac{1}{3}$, $\frac{1}{4}$ and $\frac{1}{2}$ are the best possible.

Corollary 3. *In (2.1), choose $\lambda = \frac{1}{4}$ and $x = \frac{2a+b}{3}$, then we get the following 3/8-Simpson's inequality*

$$(2.6) \quad \left| \frac{b-a}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] - \int_a^b f(t) dt \right| \leq \begin{cases} \frac{5(b-a)}{24} \cdot \bigvee_a^b(f) \\ \frac{(b-a)}{2} \cdot \max \left\{ \bigvee_a^{\frac{2a+b}{3}}(f), \bigvee_{\frac{2a+b}{3}}^{\frac{a+2b}{3}}(f), \bigvee_{\frac{a+2b}{3}}^b(f) \right\} \end{cases}.$$

3. THE CASE WHEN $f' \in L_\infty[a, b]$

Theorem 6. Let $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$ be an absolutely continuous mapping on I° , the interior of the interval I , where $a, b \in I$ with $a < b$. If f' is bounded on $[a, b]$, i.e., $\|f'\|_\infty := \sup_{t \in [a, b]} |f'(t)| < \infty$. Then the inequality

$$(3.1) \quad \left| (b-a) \left[\lambda \frac{f(a) + f(b)}{2} + (1-\lambda) \frac{f(x) + f(a+b-x)}{2} \right] - \int_a^b f(t) dt \right| \\ \leq \left[\frac{(b-a)^2}{8} (2\lambda^2 + (1-\lambda)^2) + 2 \left(x - \frac{(3-\lambda)a + (1+\lambda)b}{4} \right)^2 \right] \|f'\|_\infty.$$

holds, for all $\lambda \in [0, 1]$ and $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$.

Proof. Defining the mapping

$$(3.2) \quad K(x, t) = \begin{cases} t - (a + \lambda \frac{b-a}{2}), & t \in [a, x] \\ t - \frac{a+b}{2}, & t \in (x, a+b-x] \\ t - (b - \lambda \frac{b-a}{2}), & t \in (a+b-x, b] \end{cases}$$

for all $\lambda \in [0, 1]$ and $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$.

Integrating by parts, we obtain

$$\int_a^b K(x, t) f'(t) dt = (b-a) \left[\lambda \frac{f(a) + f(b)}{2} + (1-\lambda) \frac{f(x) + f(a+b-x)}{2} \right] - \int_a^b f(t) dt.$$

Since, f' is bounded, we can state that

$$\left| (b-a) \left[\lambda \frac{f(a) + f(b)}{2} + (1-\lambda) \frac{f(x) + f(a+b-x)}{2} \right] - \int_a^b f(t) dt \right| \\ \leq \int_a^b |K(x, t)| |f'(t)| dt \\ \leq \|f'\|_\infty \int_a^b |K(x, t)| dt.$$

Now, since

$$(3.3) \quad \int_p^r |t - q| dt = \int_p^q (q - t) dt + \int_q^r (t - q) dt = \frac{(q-p)^2 + (r-q)^2}{2} \\ = \frac{1}{4} (p-r)^2 + \left(q - \frac{r+p}{2} \right)^2,$$

for all r, p, q such that $p \leq q \leq r$. Then, we observe that

$$\int_a^x \left| t - \left(a + \lambda \frac{b-a}{2} \right) \right| dt = \frac{1}{4} (x-a)^2 + \left(\lambda \frac{b-a}{2} - \frac{x-a}{2} \right)^2, \\ \int_x^{a+b-x} \left| t - \frac{a+b}{2} \right| dt = \left(x - \frac{a+b}{2} \right)^2,$$

and

$$\int_{a+b-x}^b \left| t - \left(b - \lambda \frac{b-a}{2} \right) \right| dt = \frac{1}{4} (x-a)^2 + \left(\frac{x-a}{2} - \lambda \frac{b-a}{2} \right)^2.$$

Then, we have

$$\begin{aligned} \int_a^b |K(x, t)| dt &= \frac{(x-a)^2 + ((x-a) - \lambda(b-a))^2}{2} + \left(x - \frac{a+b}{2} \right)^2 \\ &= \frac{1}{4} \lambda^2 (b-a)^2 + \underbrace{\left(x - \frac{(2-\lambda)a + \lambda b}{2} \right)^2}_{\text{by (3.3)}} + \left(x - \frac{a+b}{2} \right)^2 \\ &= \frac{\lambda^2}{4} (b-a)^2 + \underbrace{\frac{(1-\lambda)^2}{8} (b-a)^2 + 2 \left(x - \frac{(3-\lambda)a + (1+\lambda)b}{4} \right)^2}_{\text{by (3.3)}}, \\ &= \frac{(b-a)^2}{8} (2\lambda^2 + (1-\lambda)^2) + 2 \left(x - \frac{(3-\lambda)a + (1+\lambda)b}{4} \right)^2, \end{aligned}$$

which gives that

$$\begin{aligned} &\left| (b-a) \left[\lambda \frac{f(a) + f(b)}{2} + (1-\lambda) \frac{f(x) + f(a+b-x)}{2} \right] - \int_a^b f(t) dt \right| \\ &\leq \left[\frac{(b-a)^2}{8} (2\lambda^2 + (1-\lambda)^2) + 2 \left(x - \frac{(3-\lambda)a + (1+\lambda)b}{4} \right)^2 \right] \|f'\|_\infty, \end{aligned}$$

for all $\lambda \in [0, 1]$ and $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$, which gives the required result. \square

Remark 2. In (3.1), choose $\lambda = 0$, then we have

$$\begin{aligned} &\left| (b-a) \frac{f(x) + f(a+b-x)}{2} - \int_a^b f(t) dt \right| \\ &\leq \left[\frac{(b-a)^2}{8} + 2 \left(x - \frac{3a+b}{4} \right)^2 \right] \|f'\|_\infty. \end{aligned}$$

which is equivalent to the first inequality in (1.3), and if we choose $x = \frac{3a+b}{4}$, then we have

$$\left| \frac{(b-a)}{2} \left[f\left(\frac{3a+b}{4}\right) + f\left(\frac{a+3b}{4}\right) \right] - \int_a^b f(t) dt \right| \leq \frac{(b-a)^2}{8} \|f'\|_\infty.$$

Corollary 4. Let f as in Theorem 6, then we get

$$\begin{aligned} (3.4) \quad &\left| (b-a) \left[\lambda \frac{f(a) + f(b)}{2} + (1-\lambda) f\left(\frac{a+b}{2}\right) \right] - \int_a^b f(t) dt \right| \\ &\leq (\lambda^2 + (1-\lambda)^2) \frac{(b-a)^2}{4} \|f'\|_\infty. \end{aligned}$$

The constant $\frac{1}{4}$ is the best possible in the sense that it cannot be replaced by a smaller one.

Proof. In the proof of Theorem 6, choose $x = \frac{a+b}{2}$ we get the required result. To show that $1/4$ is the best possible (3.4). Assume (3.4) holds with constant $C > 0$, i.e.,

$$(3.5) \quad \left| (b-a) \left[\lambda \frac{f(a)+f(b)}{2} + (1-\lambda) f\left(\frac{a+b}{2}\right) \right] - \int_a^b f(t) dt \right| \leq C \left(\lambda^2 + (1-\lambda)^2 \right) (b-a)^2 \cdot \|f'\|_\infty,$$

for all $\lambda \in [0, 1]$. Consider the function $f(t) = |t - \frac{a+b}{2}|, t \in [a, b]$, then $\int_a^b f(t) dt = \frac{(b-a)^2}{4}$ and $\|f'\|_\infty = 1$. Using (3.5) with $\lambda = 1$, we get $\frac{1}{4} \leq C$, which shows that $1/4$ is the best possible, which completes the proof. \square

Corollary 5. *In Corollary 4, if we choose*

(1) $\lambda = 0$, then we get

$$\left| (b-a) f\left(\frac{a+b}{2}\right) - \int_a^b f(t) dt \right| \leq \frac{1}{4} (b-a)^2 \|f'\|_\infty,$$

(2) $\lambda = \frac{1}{3}$, then we get

$$\left| \frac{(b-a)}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] - \int_a^b f(t) dt \right| \leq \frac{5}{36} (b-a)^2 \|f'\|_\infty,$$

(3) $\lambda = \frac{1}{2}$, then we get

$$\left| \frac{(b-a)}{2} \left[\frac{f(a)+f(b)}{2} + f\left(\frac{a+b}{2}\right) \right] - \int_a^b f(t) dt \right| \leq \frac{1}{8} (b-a)^2 \|f'\|_\infty,$$

(4) $\lambda = 1$, then we get

$$\left| (b-a) \frac{f(a)+f(b)}{2} - \int_a^b f(t) dt \right| \leq \frac{1}{4} (b-a)^2 \|f'\|_\infty,$$

The constants $\frac{1}{4}, \frac{5}{36}, \frac{1}{8}$ and $\frac{1}{4}$ are the best possible.

Corollary 6. *In (3.1), choose $\lambda = \frac{1}{4}$ and $x = \frac{2a+b}{3}$, then we get the following 3/8-Simpson's inequality*

$$(3.6) \quad \left| \frac{b-a}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] - \int_a^b f(t) dt \right| \leq \frac{25}{288} (b-a)^2 \cdot \|f'\|_\infty.$$

4. THE CASE WHEN $f' \in L_p[a, b]$

Theorem 7. *Let $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$ be an absolutely continuous mapping on I° , the interior of the interval I , where $a, b \in I$ with $a < b$. If f' is belong to $L_p[a, b]$,*

$p > 1$, Then the inequality

$$(4.1) \quad \left| (b-a) \left[\lambda \frac{f(a)+f(b)}{2} + (1-\lambda) \frac{f(x)+f(a+b-x)}{2} \right] - \int_a^b f(t) dt \right| \\ \leq \left(\frac{2}{q+1} \right)^{1/q} \|f'\|_p \left[\left(\lambda \frac{b-a}{2} \right)^{q+1} + \left(\frac{a+b}{2} - x \right)^{q+1} + \left(x - \frac{(2-\lambda)a + \lambda b}{2} \right)^{q+1} \right]^{1/q}$$

for all $\lambda \in [0, 1]$, $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$, and $\frac{1}{p} + \frac{1}{q} = 1$, $p > 1$.

Proof. Using Hölder inequality, we have

$$\left| \frac{b-a}{2} [\lambda (f(a) + f(b)) + (1-\lambda) (f(x) + f(a+b-x))] - \int_a^b f(t) dt \right| \\ \leq \left(\int_a^b |K(x,t)|^q dt \right)^{1/q} \left(\int_a^b |f'(t)|^p dt \right)^{1/p} \\ = \|f'\|_p \cdot \left[\int_a^x \left| t - \left(a + \lambda \frac{b-a}{2} \right) \right|^q dt + \int_x^{a+b-x} \left| t - \frac{a+b}{2} \right|^q dt + \int_{a+b-x}^b \left| t - \left(b - \lambda \frac{b-a}{2} \right) \right|^q dt \right] \\ = \left(\frac{2}{q+1} \right)^{1/q} \|f'\|_p \left[\left(\lambda \frac{b-a}{2} \right)^{q+1} + \left(\frac{a+b}{2} - x \right)^{q+1} + \left(x - \frac{(2-\lambda)a + \lambda b}{2} \right)^{q+1} \right]^{1/q}$$

for all $\lambda \in [0, 1]$, $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$, and $\frac{1}{p} + \frac{1}{q} = 1$, $p > 1$. \square

Remark 3. In Theorem 7, choose $\lambda = 0$, then we have

$$\left| (b-a) \frac{f(x) + f(a+b-x)}{2} - \int_a^b f(t) dt \right| \\ \leq \left(\frac{2}{q+1} \right)^{1/q} \|f'\|_p \left[\left(\frac{a+b}{2} - x \right)^{q+1} + (x-a)^{q+1} \right]^{1/q},$$

which is equivalent to the second inequality in (1.3), and if $x = \frac{3a+b}{4}$, then we have

$$\left| \frac{(b-a)}{2} \left[f\left(\frac{3a+b}{4}\right) + f\left(\frac{a+3b}{4}\right) \right] - \int_a^b f(t) dt \right| \leq \frac{(b-a)^{(q+1)/q}}{4(q+1)^{1/q}} \|f'\|_p.$$

Corollary 7. In Theorem 7, choose $x = \frac{a+b}{2}$, we get

$$(4.2) \quad \left| (b-a) \left[\lambda \frac{f(a)+f(b)}{2} + (1-\lambda) f\left(\frac{a+b}{2}\right) \right] - \int_a^b f(t) dt \right| \\ \leq \frac{1}{2} \left(\frac{\lambda^{q+1} + (1-\lambda)^{q+1}}{q+1} \right)^{1/q} (b-a)^{\frac{q+1}{q}} \|f'\|_p,$$

The constant $\frac{1}{2}$ is the best possible in the sense that it cannot be replaced by a smaller one.

Proof. In the proof of Theorem 7, choose $x = \frac{a+b}{2}$ we get the required result. To show that $1/2$ is the best possible (4.2). Assume (4.2) holds with constant $C > 0$, i.e.,

$$(4.3) \quad \left| (b-a) \left[\lambda \frac{f(a)+f(b)}{2} + (1-\lambda) f\left(\frac{a+b}{2}\right) \right] - \int_a^b f(t) dt \right| \\ \leq C \left(\frac{\lambda^{q+1} + (1-\lambda)^{q+1}}{q+1} \right)^{1/q} (b-a)^{\frac{q+1}{q}} \|f'\|_p,$$

for all $\lambda \in [0, 1]$. Consider the function $f(t) = |t - \frac{a+b}{2}|$, $t \in [a, b]$, then $\int_a^b f(t) dt = \frac{(b-a)^2}{4}$ and $\|f'\|_p = (b-a)^{1/p}$. Using (4.3) with $\lambda = 0$, we get,

$$\frac{(b-a)^2}{4} \leq C \frac{1}{(q+1)^{1/q}} (b-a)^{(q+1)/q} (b-a)^{1/p},$$

which gives

$$\frac{1}{4} \leq \frac{C}{(q+1)^{1/q}},$$

for any $q > 1$. Letting $q \rightarrow 1^+$, we deduce that $C \geq \frac{1}{2}$, and the sharpness of the constant in (4.2) is proved, which completes the proof. \square

Corollary 8. *In Corollary 7, if we choose*

(1) $\lambda = 0$, then we get

$$\left| (b-a) f\left(\frac{a+b}{2}\right) - \int_a^b f(t) dt \right| \leq \frac{(b-a)^{(q+1)/q}}{2(q+1)^{1/q}} \|f'\|_p,$$

(2) $\lambda = \frac{1}{3}$, then we get

$$\left| \frac{(b-a)}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] - \int_a^b f(t) dt \right| \\ \leq \frac{1}{6} \left(\frac{1+2^{q+1}}{3(q+1)} \right)^{1/q} (b-a)^{\frac{q+1}{q}} \|f'\|_p,$$

(3) $\lambda = \frac{1}{2}$, then we get

$$\left| \frac{(b-a)}{2} \left[\frac{f(a)+f(b)}{2} + f\left(\frac{a+b}{2}\right) \right] - \int_a^b f(t) dt \right| \leq \frac{(b-a)^{(q+1)/q}}{4(q+1)^{1/q}} \|f'\|_p,$$

(4) $\lambda = 1$, then we get

$$\left| (b-a) \frac{f(a)+f(b)}{2} - \int_a^b f(t) dt \right| \leq \frac{(b-a)^{(q+1)/q}}{2(q+1)^{1/q}} \|f'\|_p,$$

The constants $\frac{1}{2(q+1)^{1/q}}$, $\frac{1}{6} \left(\frac{1+2^{q+1}}{3(q+1)} \right)^{1/q}$, $\frac{1}{4(q+1)^{1/q}}$ and $\frac{1}{2(q+1)^{1/q}}$ are the best possible.

Corollary 9. In (4.1), choose $\lambda = \frac{1}{4}$ and $x = \frac{2a+b}{3}$, then we get the following 3/8-Simpson's inequality

$$(4.4) \quad \left| \frac{b-a}{8} \left[f(a) + 3f\left(\frac{2a+b}{3}\right) + 3f\left(\frac{a+2b}{3}\right) + f(b) \right] - \int_a^b f(t) dt \right| \\ \leq \left(\frac{2}{q+1} \right)^{1/q} \left[\left(\frac{1}{8} \right)^{q+1} + \left(\frac{1}{6} \right)^{q+1} + \left(\frac{5}{24} \right)^{q+1} \right]^{1/q} (b-a)^{(q+1)/q} \|f'\|_p.$$

5. A COMPOSITE QUADRATURE FORMULA

Let $I_n : a = x_0 < x_1 < \dots < x_n = b$ be a division of the interval $[a, b]$ and $h_i = x_{i+1} - x_i$, ($i = 0, 1, 2, \dots, n-1$).

Consider the general quadrature formula

$$(5.1) \quad Q_n(I_n, f) \\ := \sum_{i=0}^{n-1} \frac{h_i}{2} [\lambda(f(x_i) + f(x_{i+1})) + (1-\lambda)(f(\alpha_i) + f(x_i + x_{i+1} - \alpha_i))].$$

for all $\lambda \in [0, 1]$ and $x_i + \lambda \frac{x_{i+1} - x_i}{2} \leq \alpha_i \leq \frac{x_i + x_{i+1}}{2}$.

The following result holds.

Theorem 8. Let f as in Theorem 5, then we have

$$\int_a^b f(t) dt = Q_n(I_n, f) + R_n(I_n, f).$$

where, $Q_n(I_n, f)$ is defined by formula (5.1), and the remainder satisfies the estimates

$$|R_n(I_n, f)| \leq \begin{cases} \sum_{i=0}^{n-1} \max \left\{ \lambda \frac{h_i}{2}, \left(\alpha_i - \frac{(2-\lambda)x_i + \lambda x_{i+1}}{2} \right), \left(\frac{x_i + x_{i+1}}{2} - \alpha_i \right) \right\} \cdot V_{x_i}^{x_{i+1}}(f) \\ \sum_{i=0}^{n-1} \frac{h_i}{2} \cdot \max \left\{ V_{x_i}^{\alpha_i}(f), V_{\alpha_i}^{x_i + x_{i+1} - \alpha_i}(f), V_{x_i + x_{i+1} - \alpha_i}^{x_{i+1}}(f) \right\} \end{cases}$$

for all $\lambda \in [0, 1]$ and $x_i + \lambda \frac{x_{i+1} - x_i}{2} \leq \alpha_i \leq \frac{x_i + x_{i+1}}{2}$.

Proof. Applying inequality (2.1) on the intervals $[x_i, x_{i+1}]$, we may state that

$$R_i(I_i, f) = \int_{x_i}^{x_{i+1}} f(t) dt - \frac{h_i}{2} [\lambda(f(x_i) + f(x_{i+1})) + (1-\lambda)(f(\alpha_i) + f(x_i + x_{i+1} - \alpha_i))].$$

Summing the above inequality over i from 0 to $n-1$, we get

$$R_n(I_n, f) = \sum_{i=0}^{n-1} \int_{x_i}^{x_{i+1}} f(t) dt - \sum_{i=0}^{n-1} \frac{h_i}{2} [\lambda(f(x_i) + f(x_{i+1})) + (1-\lambda)(f(\alpha_i) + f(x_i + x_{i+1} - \alpha_i))] \\ = \int_a^b f(t) dt - \sum_{i=0}^{n-1} \frac{h_i}{2} [\lambda(f(x_i) + f(x_{i+1})) + (1-\lambda)(f(\alpha_i) + f(x_i + x_{i+1} - \alpha_i))],$$

which follows from (2.1), that

$$|R_n(I_n, f)| = \left| \int_a^b f(t) dt - \sum_{i=0}^{n-1} \frac{h_i}{2} [\lambda (f(x_i) + f(x_{i+1})) + (1-\lambda)(f(\alpha_i) + f(x_i + x_{i+1} - \alpha_i))] \right|$$

$$\leq \begin{cases} \sum_{i=0}^{n-1} \max \left\{ \lambda \frac{h_i}{2}, \left(\alpha_i - \frac{(2-\lambda)x_i + \lambda x_{i+1}}{2} \right), \left(\frac{x_i + x_{i+1}}{2} - \alpha_i \right) \right\} \cdot V_{x_i}^{x_{i+1}}(f) \\ \sum_{i=0}^{n-1} \frac{h_i}{2} \cdot \max \left\{ V_{x_i}^{\alpha_i}(f), V_{\alpha_i}^{x_i + x_{i+1} - \alpha_i}(f), V_{x_i + x_{i+1} - \alpha_i}^{x_{i+1}}(f) \right\} \end{cases}.$$

which completes the proof. \square

Theorem 9. *Let f as in Theorem 6, then we have*

$$\int_a^b f(t) dt = Q_n(I_n, f) + R_n(I_n, f).$$

where, $Q_n(I_n, f)$ is defined by formula (5.1), and the remainder satisfies the estimates

$$|R_n(I_n, f)| \leq \|f'\|_\infty \sum_{i=0}^{n-1} \left[\frac{h_i^2}{8} (2\lambda^2 + (1-\lambda)^2) + 2 \left(\alpha_i - \frac{(3-\lambda)x_i + (1+\lambda)x_{i+1}}{4} \right)^2 \right],$$

for all $\lambda \in [0, 1]$ and $x_i + \lambda \frac{x_{i+1} - x_i}{2} \leq \alpha_i \leq \frac{x_i + x_{i+1}}{2}$.

Proof. The proof is similar to that of Theorem 8, using Theorem 6. We shall omit the details. \square

Theorem 10. *Let f as in Theorem 7, then we have*

$$\int_a^b f(t) dt = Q_n(I_n, f) + R_n(I_n, f).$$

where, $Q_n(I_n, f)$ is defined by formula (5.1), and the remainder satisfies the estimates

$$|R_n(I_n, f)| \leq \left(\frac{2}{q+1} \right)^{1/q} \|f'\|_p \sum_{i=0}^{n-1} \left[\left(\lambda \frac{h_i}{2} \right)^{q+1} + \left(\frac{x_i + x_{i+1}}{2} - \alpha_i \right)^{q+1} + \left(\alpha_i - \frac{(2-\lambda)x_i + \lambda x_{i+1}}{2} \right)^{q+1} \right]^{1/q},$$

for all $\lambda \in [0, 1]$ and $x_i + \lambda \frac{x_{i+1} - x_i}{2} \leq \alpha_i \leq \frac{x_i + x_{i+1}}{2}$.

Proof. The proof is similar to that of Theorem 8, using Theorem 7. We shall omit the details. \square

REFERENCES

- [1] M. Alomari, M. Darus and U.S. Kirmaci, Some inequalities of Hermite–Hadamard type for s -convex functions, *Acta Mathematica Scientia*, to appear.
- [2] M.W. Alomari, A companion of Ostrowski’s inequality with applications, *Trans. J. Math. Mech.*, to appear.
- [3] M. Alomari and S. Hussain, Two inequalities of Simpson type for quasi-convex functions and applications, *Appl. Math. E-Notes*, 11 (2011) 110–117.
- [4] M. Alomari, M. Darus and U. Kirmaci, Refinements of Hadamard-type inequalities for quasi-convex functions with applications to trapezoidal formula and to special means, *Comp. Math. Appl.*, 59 (2010), 225–232.
- [5] M. Alomari, M. Darus, S.S. Dragomir, P. Cerone, Ostrowski type inequalities for functions whose derivatives are s -convex in the second sense, *Appl. Math. Lett.*, 23 (2010), 1071–1076.
- [6] M. Alomari, M. Darus and S.S. Dragomir, New inequalities of Hermite–Hadamard type for functions whose second derivatives absolute values are quasi-convex, *Tamkang J. Math.*, 41 (2010), 353–359.
- [7] M. Alomari and M. Darus, On some inequalities of Simpson–type via quasi-convex functions and applications, *Trans. J. Math. Mech.*, (TJMM), 2 (2010), 15–24.
- [8] M. Alomari and M. Darus, Some Ostrowski type inequalities for quasi-convex functions with applications to special means, *RGMA Preprint* 13 (2) (2010) article No. 3. [<http://rgmia.org/papers/v13n2/quasi-convex.pdf>]
- [9] N.S. Barnett, S.S. Dragomir and I. Gomma, A companion for the Ostrowski and the generalised trapezoid inequalities, *J. Mathematical and Computer Modelling*, 50 (2009), 179–187.
- [10] P. Cerone and S.S. Dragomir, Midpoint–type rules from an inequalities point of view, In *Handbook of Analytic Computational Methods in Applied Mathematics*, (Edited by G. Anastassiou), pp. 135–200, CRC Press, New York, (2000).
- [11] P. Cerone and S.S. Dragomir, Trapezoidal–type rules from an inequalities point of view, In *Handbook of Analytic-Computational Methods in Applied Mathematics*, (Edited by G. Anastassiou), pp. 65–134, CRC Press, New York, (2000).
- [12] A. Guessab and G. Schmeisser, Sharp integral inequalities of the Hermite-Hadamard type, *J. Approx. Th.*, 115 (2002), 260–288.
- [13] S.S. Dragomir and Th.M. Rassias (Ed.), *Ostrowski Type Inequalities and Applications in Numerical Integration*, Kluwer Academic Publishers, Dordrecht, 2002.
- [14] S.S. Dragomir, Some companions of Ostrowski’s inequality for absolutely continuous functions and applications, *Bull. Korean Math. Soc.*, 42 (2005), No. 2, pp. 213–230.
- [15] S.S. Dragomir, A companion of Ostrowski’s inequality for functions of bounded variation and applications, *RGMA Preprint*, Vol. 5 Supp. (2002) article No. 28. [<http://ajmaa.org/RGMA/papers/v5e/COIFBVApp.pdf>]
- [16] S.S. Dragomir, P. Cerone and J. Roumeliotis, A new generalization of Ostrowski integral inequality for mappings whose derivatives are bounded and applications in numerical integration and for special means, *Appl. Math. Lett.*, 13 (1), 19–25, (2000).

- [17] S.S. Dragomir, R.P. Agarwal and P. Cerone, On Simpson's inequality and applications, *J. of Inequal. Appl.*, 5 (2000), 533-579.
- [18] S.S. Dragomir and C.E.M. Pearce, *Selected Topics on Hermite-Hadamard Inequalities and Applications*, RGMIA Monographs, Victoria University, 2000. Online: [http://www.staff.vu.edu.au/RGMIA/monographs/hermite_hadamard.html].
- [19] Z. Liu, Some companions of an Ostrowski type inequality and applications, *J. Ineq. Pure & Appl. Math.*, Volume 10 (2009), Issue 2, Article 52, 12 pp.
- [20] N. Ujević, A generalization of Ostrowski's inequality and applications in numerical integration, *Appl. Math. Lett.*, 17 (2004), 133-137.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, JERASH PRIVATE UNIVERSITY, 26150
JERASH, JORDAN

E-mail address: mwomath@gmail.com